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FOR: Innerbelt Railing JOB NO.: 49633 SHEET NO: 1/14
MADE BY: ZTW CHECKED BY: JRE BACKCHECKED BY: ZTW
DATE: 5/21/13 DATE: 6/3/13 DATE: 6/7/13

* - Design the railing "Leaning Plate" for AASHTO Pedestrian loads. Look @ cantilever of plate
and spanning between supports. LRFD Design.

Cantilever
(Look at Interpretive Panel, will control)

. 3. . .
L := 11.375in — Eln = 9.875-in E := 29000ksi
Ibf o
Whronze = 554_3 (AISC 13th Edition) o := 10deg
ft
b:= 1ft t = iin
: bronzeplate - 16

F’bronzeplate = Wbronze"—'b'tbronzeplate + Wbronze'b'tbronzeplate'(0'75in - tbronzeplate) =7529x 10 3~kip
wy_:= 0.050KkIf p = 0.20kip (AASHTO 13.8.2)
PL=w_-b+p = 0.25Kkip

Ibf . . .
Wsteel = 4905 tsteelplate = 0-25iN Lsteelplate = L ~ tbronzeplate — 0-5in = 9.188-in

Fy := 36ksi (A36 Steel)

-3 ..
Psteelplate = Wsteel Lsteelplate P tsteelplate = 7-816 x 10 ~-kip

L -cos(a)
steelplate L-cos(a) -
M, =125 > ‘Psteelplate + 1'25T‘Pbronzeplate + 1.75L-cos(a)-P| = 4.345-Kip-in

I-'tsteelplate < 0.08-E

Checkyieding = | "OK. Mn=Mp=Fy*Z" if = "OK, Mn=Mp=Fy*Z"

b Fy
"Lateral Torsional Buckling Controls" otherwise (AASHTO 6.12.2.2.7)
2
b-t
steelplate 3
zsteelplate = 1 0.188-in
of = 1.00 (AASHTO 6.5.4.2)
2
b-t
steelplate 3
Ssteelplate = s 0.125-in
My = Fy-Sgteelplate = 4-5-Kip-in
OMp := Min(op-Fy Zetegiplate: df-1.6-My) = 6.75-kip-in (AASHTO 6.12.2.2.7-1)

Checkyy:= |"O.K." if oM, >M, ="OK."

"No Good" otherwise



FOR: Innerbelt Railing JOB NO.: 49633 SHEET NO: 2/ 14
MADE BY: ZTW CHECKED BY: JRE BACKCHECKED BY: ZTW
DATE: 5/21/13 DATE: 6/3/13 DATE: 6/7/13

Weld @ support plate to "Post"

bgp = 0.80 (AASHTO 6.5.4.2)

Fexx = 60Ksi (AISC J2.6)

Ry = 0.6:GgoFoyy = 28.8-ksi (AASHTO 6.13.3.2.4b-1)
. 3. . . . .

Fillet .= Eln te == Fillet-sin(45deg) = 0.133-in Length := 3in

Aredelq = te-Length-2 = O.795-in2

Length .
&g =1.51n

1 3 .4
lweld = E-teLength -2 =0.597-in Yweld =

L -cos(ay) .
{ 195 steelplate L-cos(a)

Psteelplate + 1-2° “Poronzeplate 1'75|-'COS(O‘)'(V"L'3ft + pL)}'yweld
Op = = 15.202-ksi
lweld

(Stress for 3' span)
V,

u
V,, = 1L.75/(w; -3ft + p; ) = 0.612-Kkip o, = — = 0.77-ksi
u L L Y
( ) Areaye|g
2 2 .
o= /O’b + 0, = 15.221-ksi
Checkyyglg = |"O-K." If o <R; ="OK” NOTE: Use 1/4" fillet weld per
Span
(Longitudinal) (Look at Leaning Plate, will control)
span = 3ft
bhronzeplate = 10in bsteelplate = Pbronzeplate ~ 2'(Jfbronzeplate + O.5in) = 8.625-in
Wg = Whronze Pbronzeplate thronzeplate * Wbronze'tbronzeplatte'(o-75in - tbronzeplate)'2 . = 0.015-kIf

+Wsteel Psteelplate tsteelplate

w, ~span2 W|_~span2 pL_-span
Mu = 1.25T + 1.75~T + 1.75

= 4.59-Kip-in

span-tsieeplate _ 0.08E
2 Fy
steelplate

Chec"yielding = [|"OK, Mn=Mp=Fy*Z" if

= "OK, Mn=Mp=Fy*Z"
b

"Lateral Torsional Buckling Controls" otherwise (AASHTO 6.12.2.2.7)

b t 2
steelplate ‘steelplate .
Zpjate = ——— p P —0135:in°




FOR: Innerbelt Railing JOB NO.: 49633 SHEET NO: 3/14

MADE BY: ZTW CHECKED BY: JRE BACKCHECKED BY: ZTW
DATE: 5/21/13 DATE: 6/3/13 DATE: 6/7/13
) bsteelplate'tsteelplate .3
Splate = 5 = 0.09-in
My := Fy-Spjate = 3.234-kip-in
OMp := min(og-Fy-Zpjate. df1.6-My ) = 4.852-Kip-in (AASHTO 6.12.2.2.7-1)
Checkyy == |"O.K™ if $M, =M, ="OK"

"NO GOOD" otherwise

Intermediate Post
(Check at Interpretive Panel)

tWChannel = 0.184in
Lpost := 36In — tWepannel — 0-25in = 35.566-in tpost := 1.25in bpost :=3in
Ibf .
Wchanne| = 54? E := 29000ksi
Phronzeplate = 181N bsteelplate = Pbronzeplate ~ 2'(tbronzeplate + 0-5"‘) = 16.625:in
P4 = Woronze Pbronzeplate tbronzeplate SPan -- = 0.102-kip

JrWbronze'tbronzeplate'(0'75in - tbronzeplate)'z'Span
. . 3. .
+Wsteel Psteelplate Isteelplate SPaN + Wehannel'SPan + ""steel'1-25'n'(2'n + E'”j':”'n
PL = pp + w_-span = 0.35-kip

Py = 1.25:Py + 1.75-P| = 0.74-kip

g = 0.90 (AASHTO 6.5.4.2)
Ky =12 Ky =21 (Bending about respective axis)
t b
ost ost
o= —= =036lin 1= —— = 0.866in
V12 V12
K,-L K..-L
t t
X PSR _ 118276 Y POS _ g6.043
rX ry
. Kx"-post
CheCk6 9.3x = "Meets AASHTO 6.9.3" if ——— <120 = "Meets AASHTO 6.9.3"
9.3. p
X

"Does NOT meet AASHTO 6.9.3!!"  otherwise



FOR: Innerbelt Railing JOB NO.: 49633
MADE BY: ZTW CHECKED BY: JRE
DATE: 5/21/13 DATE: 6/3/13
. Ky'Lpost
Check6_9.3_y = |"Meets AASHTO 6.9.3" if ——— <120 = "Meets AASHTO 6.9.3"
'y
"Does NOT meet AASHTO 6.9.3!!"  otherwise
2
™ -E .
Pex = —Z'bpost'tpost = 76.725-Kip
K, -L
X —post
Iy (AASHTO 6.9.4.1.2-1)
2
T -E .
Pey = —Z'bpost'tpost = 144.305-kip
(Ky'l-post
'y
( 5 J
P P
Py = |0658° /P, if — >044 = 64.639-kip
Po
0.877-Pay otherwise
(AASHTO 6.9.4.1.1-1)
( ; ]
P P
a ey . ey 3 .
Pny = [0.658 Py if — >0.44 =91.26-kip
0
0.877~Pey otherwise

Pri= ¢C~min(PnX,Pny) = 58.175-kip
Checkp:= |"O.K." if P, > P, ="0.K."

"NO GOOD" otherwise

Check Combined Bending and Axial of Intermediate Post
(Assume a cantilever)

M x := OKip-in (AASHTO 6.12.2.2.7)

Loostt .
Checkyioidings = |"OK. Mn=Mp=Fy*z" if —° 'OZOSt < 0'28 £ "OK, Mn=Mp=Fy*Z"
y

bpost

"Lateral Torsional Buckling Controls" otherwise

byt 2
ost’ ‘post .
Zposp = o = 14720

SHEET NO: 4/14
BACKCHECKED BY: ZTW
DATE: 6/7/13



FOR: Innerbelt Railing JOB NO.: 49633 SHEET NO:5/14
MADE BY: ZTW CHECKED BY: JRE BACKCHECKED BY: ZTW
DATE: 5/21/13 DATE: 6/3/13 DATE: 6/7/13

Mpx = f-FyZpgst = 42.187-Kip-in

bpost-toost
) post” “post .3
Spostx = —————— = 0.78L-in
My = Fy-Spostx = 28.125-kip-in
My := min(Mpy., b 1.6- My, ) = 42.187-Kip-in (AASHTO 6.12.2.2.7-1)
Hrail = 42in

Myy = L.75-Hgjp-(span-w_+ p| ) = 25.725-kip-in

L -b
. " _ . post™¥post  0.08-E
CheCkyieldingy = |"OK, Mn=Fy*Z" if 5 < -

Lpost

= "Lateral Torsional Buckling Controls™
y

"Lateral Torsional Buckling Controls" otherwise

1 -
Mmid = E'Lpost'l-75'(5pan'WL + pL) = 10.892-kip-in

My := Okip-in
_ Mnig
Cpy = [1.0 if >1 =1.75 (AASHTO A6.3.3-7)
Y Muy
M My ?
1.75 - 1.05| — | + 0.3| —— otherwise
Muy Muy
2
to et D
__ ‘post™~post .3
Sposty =~ = L.875-in
Myy = Fy'Sposty = 67.5-kip-in
19E-Cy
Fery = W 1412 x 10%ksi
I-post'bpost
2
tpost
Lpyoepb F , Laet-b .
Moy = |Cpy| 152 - 0274 RELPOSUI [V |y g QOB  “post post  19E 476 606 kip-in
ny y E vy F 2 F
tpost y tpost y
Fcry'sposty otherwise
2
t et D
post ~'post :2.812~in3

ZpOSty =



FOR: Innerbelt Railing
MADE BY: ZTW
DATE: 5/21/13

JOB NO.: 49633
CHECKED BY: JRE
DATE: 6/3/13

Mpy := min(Mpy. df-Fy-Znogry) = 101.25-kip-in

P
0013
Py
P M M P
Combined == | — Wi Y02 —026 (AASHTO 6.9.2.2)
2-Py My IV'ry Py
Pu 8 Muyx IV'uy .
— + —:| —— + ——= | otherwise
Pr 9 My Mry
Checkcombined = |"O-K." if Combined <10 ="O.K."
"NO GOOD" otherwise

Weld @ base of Post to base plate
(Check bending in post as a cantilever)

g = 0.80

Foxx = 60ksi

Ry = 0.6 Ggp - Fayy = 28.8-ksi

(AASHTO 6.5.4.2)
(AISC J2.6)

(AASHTO 6.13.3.2.4b-1)

. 1. . . . .
Fillet := Eln to := Fillet-sin(45deg) = 0.354-in Length := bpost = 3-in
Areaelq = te-Length-2 = 2.121-in2

1 3 ! Length .
Iweld = E-teLength -2 =1.591-In yWGld = ——— =1.5In
Muy Yweld
op = — LT 24.054-ksi
lweld
< ) .
V,, := 1.75-(wj -span + p; | = 0.612-kip o, = — = 0.289-ksi
u L L Y
Areayelq

o1 = /O‘bz + ch2 = 24.255-ksi

Checkyyeg = |"O.K." if o7 <R,

"NO GOOD" otherwise

End Post
(Check bending in post as a cantilever)

Pcable := 0.60Kip tendpost := 1.25in

i=0.11

="0.K."

bendpost = 3in separation := 3in

arm, := i-3

SHEET NO: 6/ 14

BACKCHECKED BY: ZTW

DATE: 6/7/13



FOR: Innerbelt Railing JOB NO.: 49633

SHEET NO: 7 /14

MADE BY: ZTW CHECKED BY: JRE BACKCHECKED BY: ZTW

DATE: 5/21/13 DATE: 6/3/13

0
1.8
3.6
5.4

7.2
g| -Kip-in

M -arm-in =

eachcable = Pcable

10.8
12.6
14.4
16.2

18
19.8

Ol |N[ojO|BR|W[IN|F|O

=
o

=
=

M, = ZMeachcable'l-ZS = 148.5-kip-in

bendpost
Zendpost = _endpost {(separation + Z'tendpost)z - separationz} _ 15.937-in°

OM, = bg-Fy-Zengpost = 573.75-kip-in

Checky; == |"Ok" if $M, =M, ="Ok"

"No Good" otherwise

Check Combined Bending and Axial of End Post
(Assume a cantilever)

Muxend = My, = 148.5-kip-in (AASHTO 6.12.2.2.7)

Loostt
08.E
Checkyigigingx = | "OK, Mn=Mp=Fy*Z" if —2 e”dDZOSt < OiB

bendpost

= "OK, Mn=Mp=Fy*Z"
y

"Lateral Torsional Buckling Controls" otherwise

.3
Zendpostx ‘= Zendpost = 15:937-in

Mpxend = fFyZendpostx = 573.75-Kip-in

[(Z'tendpost + separation)3 - separationﬂ

. 3
. =12.67-in
endpost 6~(2~t

=b

S :
endpostx endpost + separation)

Myxend = Fy-Sendpostx = 456-136-kip-in

Mrxend = min(Mpxend’¢f'1-6'MyXend) = 573.75-kip-in (AASHTO 6.12.2.2.7-1)

DATE: 6/7/13



FOR: Innerbelt Railing JOB NO.: 49633 SHEET NO: 8/ 14
MADE BY: ZTW CHECKED BY: JRE BACKCHECKED BY: ZTW
DATE: 5/21/13 DATE: 6/3/13 DATE: 6/7/13

1 - -
Muyend = 1-75'Hrai|~(zspan~wL + DLJ = 20.213-kip-in

Check

Lnet D
. " _ w - post ~endpost  0.08-E
yieldingy = OK, Mn=Fy*Z" if <

= "Lateral Torsional Buckling Controls™

2 F
tendpost y
"Lateral Torsional Buckling Controls" otherwise
1 1 o o
Mmidend = EHraIIl75 Espan-wl_ +PL|= 10.106-kip-in Ml := Okip-in
M...:
dend
Cryi= |10 if —oed = 1.75
by M
uyend

(AASHTO A6.3.3-7)

My M ’
1.75 — 1.05- + 0.3 otherwise
Muyend Iv'uyend

2
tendpost' bendpost

6

3
Sendposty = .2 = 3.75-in

Myyend = Fy-Sendposty = 135-Kip-in

19E-Cy,
Y 1412 x 10% ki

F =
cryend
Y I-post'bendpost

t 2
endpost

Mpyend = |Chy| 1.52 - 0.274-

I-post'bendpost Fy .. 0.08-E I-post'bendpost 19-E
_ || = 'Myyend if < <

= 353.613-kip-in
2 E 5 ,
tendpost Lendpost

Feryend-Sendposty Otherwise

t b 2

endpost”~endpost 3
Zendposty = 4 -2 = 5.625-in
Myyend = min(Mnyenda¢f'Fy'Zendposty) = 202.5-kip-in
Pdend = Wbronze'bbronzeplate'tbronzeplate'zspan — 0.051-kip

. 1
+Wbronze'tbronzep|ate'(0-75In - tbronzeplate)'Z'ESpan
1 1 (3. ).
+Wsteel'bsteelplate'tsteelplate'ESpan * Wehannel %, SPan + V"steel'o-625'”'(2'n + —|n)~3|n

1 .
Plend = PL *+ WL'ESPan = 0.275-kip



JOB NO.: 49633
CHECKED BY: JRE
DATE: 6/3/13

FOR: Innerbelt Railing
MADE BY: ZTW
DATE: 5/21/13

SHEET NO: 9/ 14
BACKCHECKED BY: ZTW
DATE: 6/7/13

Puend = 125Pgend + 1.75-P| ng = 0-545-Kip
g = 0.90 (AASHTO 6.5.4.2)
Kyend = 12 (Bending about respective axis) Kyend =21
(z'tendpost + separation)3 - separation3 bendpost
I'vend == - - = 2.155-in Vend= — = = 0.866-in
12'[(2'tendpost + separatlon) - separatlon] V12
K -L K -L
xend' —post end “post
_Xend PO _ 19.801 _YoNC POS _ 86,243
"xend "'yend
2 2
Kyand: L a 2
KLy = _xendTpost | o, X (@ (AASHTO 6.9.4.3.1-1)
"xend 1+ aX2 Tix
h t
X . . endpost .
o= — hy, =t + separation = 4.25-in r, = ——— = 0.361-in
211y X '~ “endpost ix V12
hy
oy = —— = 5.889 a:=arm,-in = 3-in
2:Tiy !
2 2
Kyand:L a 2
xend' —post X a
KLy = || —=P2 | 4 0.82. {2 =21148
"xend 1+ axz Tix
b h
endpost
fy = — = = 0.866-in hy := Oin oy == =0
V12 2Ty
2 2
K -L 2
end ~post a
KLy = (u] +og2—Y (—j - 86.243
"yend 1+a,” iy
Checkg g3 = |"Meets AASHTO 6.9.3" if KLry, < 120 — "Meets AASHTO 6.9.3"

"Does NOT meet AASHTO 6.9.3!" otherwise

Checkg g 3 = |"Meets AASHTO 6.9.3" if KLrpy, <120

"Does NOT meet AASHTO 6.9.3!"  otherwise

2
Pexend = > 'bendpost'tendpost'z =4.801 x 10 klp
KL mx
. ”TZ.E -
Peyend = 5 ‘Pendpost tendpost 2 = 288.61-kip
(KLrmy)

= "Meets AASHTO 6.9.3"

(AASHTO 6.9.4.1.2-1)
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MADE BY: ZTW
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JOB NO.: 49633
CHECKED BY: JRE
DATE: 6/3/13

SHEET NO: 10/ 14
BACKCHECKED BY: ZTW
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Poend = I:y'tendpost'bendpost'z = 270-kip
[ Poend ]
P P
exend .. exend .
Prxend = 0-698 Poend i >0.44 = 263.718-kip
oend
0.877-Payend otherwise
(AASHTO 6.9.4.1.1-1)
[ Poend ]
P P
L eyend .. eyend B )
Pnyend = 10.658 Poend if >0.44 = 182.52-kip
oend
0-877'Peyend otherwise

Prend = ¢C~min(anend,Pnyend) = 164.268-kip

Checkpgng = |"O.K." if P = "0.K."

rend = Puend

"NO GOOD" otherwise

Puend 3

=3319x 10

I:’rend

Puend
2-P

<02 =0.36

M P
Combined := uyend] it uend

Muxend
+ +
Mrxend IV'ryend

Puend 8 [Muxend N Iv'uyend

rend Prend

+—.
Prend 9 ( Mrxend

otherwise
M ryend

"0.K." if Combined < 1.0
"NO GOOD"

CheCkCombined = ="0.K."

otherwise

End Post
(Check shear flow for design of weld)

A
|

Vi=11-P 1. = 6.6-kip

cable

. 2 1
A":= tendpost Pendpost = 3-75-In V=3

Q:= ALy’ = 7.969-in°

[(Z'tendpost + separation)3 - separationﬂ
endpost’ 12

= b - 34.844-in"

1
“tendpost + 5

(AASHTO 6.9.2.2)

-separation = 2.125-in



FOR: Innerbelt Railing JOB NO.: 49633

SHEET NO: 11/ 14
BACKCHECKED BY: ZTW
DATE: 6/7/13

MADE BY: ZTW CHECKED BY: JRE
DATE: 5/21/13 DATE: 6/3/13
V- Ki
q:= vQ _ 1.509.'_p

in
. 1 . .
H:=arm,-in + —-arm,-in = 4.5-in
1 2 1

Viyeld = G-H = 6.792-kip

(g = 0.80
Fexx = 60ksi

. 3. . . .
Fillet := Eln to := Fillet-sin(45deg) = 0.133-in

Areayq1q = to-Length-2 = 0.398-in”
Ry = 0.6- gy FoyyAredyg)q = 11.455-kip

V= 1.25:V, g

d = 8.49-kip
Checkyyrelg == |"O.K.™ if V|, <R, ="0.K."
"NO GOOD" otherwise

Weld @ base of Endpost to base plate
(Check bending in post as a cantilever)

g = 0.80

Fexy = 60ksi

e

Ry = 0.6:Pgo Fayy = 28.8-ksi
. 3. . . .
Fillet := Eln to == Fillet-sin(45deg) = 0.265-in

Yy := 0.5-separation + tendpost + 0.5t = 2.883in

.2
Arede|q = 4te'(bendpost + tendpost) = 4.508-in

2 2 2 . 4
lweldx = te'bendpogt'z'(yl +Yo ) + 4'te'tendpost'y3 = 22.182-in

t

4 endpost e

2
| = b 3 4 —b = 5.92.i 4
weldy = E'te' endpost * #'te tendpost’ 5 T ) Teven

Myx = Myyend = 148.5-kip-in

Vi = 1.25'V = 8.25-kip

(AASHTO 6.5.4.2)

(AISC J2.6)

Length := 1.5in

(AASHTO 6.13.3.2.4b-1)

NOTE: Use 1/4" fillet weld per
AASHTO 6.13.3.4-1

(AASHTO 6.5.4.2)
(AISC J2.6)

(AASHTO 6.13.3.2.4b-1)
y1 := 0.5-separation — 0.5-t; = 1.367 in

yg = O.5-(separation +t ) =2.125in

endpost

M 4 = 20.213-Kip-in

uy = Muyen

VUX

- — " _183ksi
Arede|q

O'VXZ
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MADE BY: ZTW CHECKED BY: JRE BACKCHECKED BY: ZTW
DATE: 5/21/13 DATE: 6/3/13 DATE: 6/7/13
V= 175 wy Sspan + py | = 0.481-kip o -—£—0107ksi
2 2 .

OyT=Oyx + Oy = 1.833-ksi

MyyY2 My b 0.5
Gy = — e = 19.298-ksi oy = —L PN T 5101 ki

lweldx Iweldy
OTT = Oty + Oty = 24.419-ksi

, 2 2 .
O'T = O'VT + O'TT = 24.488-ksi
Checkyyelg = |"O.K." if o <R, ="0K."

"NO GOOD" otherwise
End Post
(Check connecting plate of built-up end post) )
. endpost .
K:= 065 a = 3in fi= ?p - 0.361-in
12
K.
Karjy = — = 5.404
"i

Check := | "OK, meets AASHTO 6.9.4.3" if Karj, < 0.75-max(KLry,,KLry ) = "OK, meets AASHTO 6.9.4.3"

"Adjust Spacing" otherwise

. . . ’ E
Check := |"OK, meets AISC E6.2" if a< mm(lZm,O.?S- F_'tendpost) = "OK, meets AISC E6.2"
y

"Adjust Spacing” otherwise

Spacer; := 0.5in

. 1
Check := | "OK, meets AISC E6.2" if Spacer; > E-a = "OK, meets AISC E6.2"

"Make spacer plate thicker" otherwise
=1.0
Vnspacer = 0.6-Fy-Spacer;-Length-C,, v

Check := | "OK, meets AISC E6.2" if V, > 0.02-P

nspacer = "OK, meets AISC E6.2"

rend

"Make spacer plate thicker" otherwise

Anchor Bolts
(Check endpost and use for intermediate also)

Fy := 58ksi ASTM A307 Grade C (AASHTO 6.4.3.1)



FOR: Innerbelt Railing
MADE BY: ZTW
DATE: 5/21/13

3
Dia:= —in
4

R, = 0.48-A

anchor FuNs

=1

Ry, = dg0.48-Agpenor

V= Vyx = 8.25-kip
Checkv =
"NO GOOD"

¢y 1= 0.80

Wplate = 8in

Sanchor = Wplate

Muxend * Muyend 1

T, :=
u S

anchor

&Ty = | 0p0.76-A

anchor Fu if

¢t'0'76'Aanchor'

Checkp:= ["OK" if 6T, 2T,

"NO GOOD"

"OK" if OR, 2V,

Fur[1-

JOB NO.: 49633
CHECKED BY: JRE
DATE: 6/3/13

Aanchor

g = 0.75

‘Fy"Ng-4 = 36.898-kip

— "OK"

otherwise

— 2-Edge = 5.5in

= = 15.338-kip

V,,0.25
Ry
Ps
V,0.25

<0.33 = 15.579-kip

otherwise

Rn

— "OK"

otherwise

- E.Dia2 — 0.442-in°

SHEET NO: 13/ 14
BACKCHECKED BY: ZTW
DATE: 6/7/13

(AASHTO 6.13.2.12-1)
(AASHTO 6.5.4.2)

(4 anchors per plate)

(AASHTO 6.5.4.2)

Edge := 1.25in

(Both directions)

(2 anchors)

(AASHTO 6.13.2.11)



FOR: Innerbelt Railing JOB NO.: 49633 SHEET NO: 14/ 14
MADE BY: ZTW CHECKED BY: JRE BACKCHECKED BY: ZTW
DATE: 5/21/13 DATE: 6/3/13 DATE: 6/7/13

Check force from cables on intermediate posts due to curvature

angle := 2.62deg P = Pcapletan(angle) = 0.027-kip

0
0.082
0.165
0.247
0.329
0.412| -Kip-in
0.494
0.577
0.659
0.741
0.824
0.906

M = P.arm-in =

eachcable

OO |IN[Oo|O|AR|W|IN|F|O

[N
o

[EN
[E

M, = ZMeachcable'1'25 = 6.795-kip-in

Checkpost = |"OK, Moment < design moment" if M < Muyend = "OK, Moment < design moment"

"No Good, Moment > design moment" otherwise



